Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2019

Subject Name : Basic Electronics
Subject Code : 2TEO3BEEL1 Branch: Diploma (Electrical)
Semester : 3 Date : 20/03/2019  Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:

a) Charge of the electronis ___ :
A.1.602x10™C
B. 1.602x10™ A
C. 1.602x10™C
D. 1.602x10" A
b) can store the charge
Resister
Inductor
Capacitor
. None
c) Choose the correct formula of rms current for full wave center tap rectifier..
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d) A transistor has how many doped regions
Al
B.2
C.3
D.4
e) Bridge wave rectifier contain ........................ diode
Al
B.2
C.3
D.4
f)  Inapower supply diagram, which block indicates a smooth dc output?
A. Transformer
B. rectifier
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C. filter
D. Regulator
g) Fullform of SCR 1
A. silicon controlled rectifier
B. silicon collector rectifier
C. silicon controlled relay
D. silicon collector relay
h) When converting 0.16mA to microampere the result is............. 1
A. 16microampere
B. 1600 microampere
C. 160 microampere
D. 0.00016 microampere
1) Unit of resistance iS...........coceeeneininnnn. 1
A. Ohm
B. Faraday
C. Mho
D. ampere
J) gives out electrons in diode 1
A. Gate
B. plate
C. cathode
D. heater
k) What is the charge of Neutron? 1
A. Positive
B. Negative
C. Neutral
D. None of above
[)  Give Full Form of JFET. 1
A. Junction Field-Effect Transistor
B. Just Field-Effect Transistor
C. Junction Field-Effect Thyristor
D. Just Field-Effect Thyristor
m) Rectification Efficiency of full wave rectifier is 1
A. 80.2%
B. 81.2%
C. 82.2%
D. 50%
n) Which material has low resistance? 1
Semiconductor
Conductor
Insulator
None of the above
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Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
(@) What is Filter Circuit? Give Types of Filter Circuit. Explain Choke input LC 7
filter circuit in detail.
(b) Draw and Explain Full Wave Rectifier 7
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Attempt all questions

Draw and explain VI Characteristics of SCR. 7
Explain Two Transistor Analogy of SCR. 7
Attempt all questions (14)
Explain Zener Diode as voltage regulator with necessary diagram. 7
Explain Class B push pull amplifier. 7
Attempt all questions (14)
Draw and Explain VI characteristics of PN Junction Diode. 7
Explain working of RC phase-shift oscillator and give its advantages and 7
disadvantages.
Attempt all questions (14)
Explain Colpitt oscillator. 7
Explain CE Amplifier with the help of necessary figure. 7
Attempt all questions (14)
Draw and Explain three configuration of NPN and PNP transistor 7
What is amplifier? Explain working of common emitter amplifier with circuit 7
diagram.
Attempt all questions (14)
Explain UJT as a relaxation oscillator. 7
For Transistor, Compare CB, CC & CE configurations With appropriate diagram. 7
Attempt the following questions: (14)
BASA ol Ao ® 1
A. 1.602x10-19C
B. 1.602x10-?A
C. 1.602x1019C
D. 1.602x101°A
AL 2212 531 AS 6 1
A. ARy
B. URs
C. 3Rk
D. As uQl o8l
YOl R0l AeR 2U ESAR M2 522 of URAHAUA UY Y2 UE $A .. 1
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Page 3 of 6



F.
G.

H o |3h'

| (=1

ra|

[

Im

H.

d) aleBemi decll v Qe B?

E. 1
F.2
G.3
H.4

e) Qo A YERHRUIML v SLAS B

E. 1
F. 2
G.3
H. 4

f)  war e staoiHHl sa ocdlsHl ura Slall wiBeye yud B 2
A. 2ledslR
B. 3SR
c. Beer
D. RRJA2R
9)  Aullaire] dAygl oun
A. R@Aslet 2 sdlslaAR
B. R@Ast sAs2 sdlsaR
C. RlAs s A

D. RAslet sAs22 RA
) 0.16mA A wes21R 1L 3UidR $cl URRUA............. 0.
A. 16 HisslA2R
B. 1600 HgslmllaR
C. 160 HgslallaR
D. 0.00016 M &sIAR2R
) AU o ASH oo )
A. e
B. %A3
C. 18l
D. AWrlaR
) osts i sQsdlet WA D
A. e
B. e
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C. 3as

D. éle?
K)  ojdlotot % 9 B2 1
A. Yal
B. 30
C. de
D. As Ul otél
) JFET of ygl a3y 2l 1
A. 590l ($es-83se 26D
B. o (3cs-8¥se 2R
C. 52t (3cs-v¥se aladles
D. o2 (3cs-8%se alaler
M) sct Ad AsesR ol As(3dalct AL QAR --------- 8. 1
A. 80.2%
B. 81.2%
C. 82.2%
D. 50%
N sa wdldlad A S| WA St ©? 1
A. AN o552
B. dlés
C. AR
D. GuRatuiell 8¢ otel
Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions (14)
(a) (3cez ulSe 9 B2 (e e ol ysik . Als satye A Al (3eer AlSe (QatdaR 7
Al
(b) getdol sEL5AR ERA AR Ao st UM 7
Q-3 Attempt all questions (14)
(@) AU R4Rel Qs clet@s AR €12 AR UM A 7
(b) SCR HIZ Q 2R Aoty UHAA 7
Q-4 Attempt all questions (14)
(@) 33| StaAUH AUA ARy 23JA2R d3lF Dol slAsA UuHAA. 7
(b) S B YAYe Ancllslalr amostdl. 7
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Q-6

Q-7

Q-8
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(b)

(@)
(b)

()
(b)

()
(b)

Attempt all questions (14)
YAt %5210t stllsell e Alat@lsdillal €131 ual UHosA . 7
URYUL 3%-[As2 A2 511 UHAA W Aoll SIRAEL Bl ARSLAEL WL, . 7
Attempt all questions (14)
slc0e wRAR AuenAl. 7
%331 gl WA CE AMAFAR A 7
Attempt all questions (14)
NPN ol PNP 2Ie3ReR HM2atl 2Rl SUAorRatet wis(d €l3lal yHesiAl. 7
AndlslaR AeA 92 Ulde staouH A slHet Axle Ancllsiare] st !
SRICIEN

Attempt all questions (14)
Y3l of AsAUA WRARR of 5121 agldl. 7
3R gl WA gl U2 Aloll, Al ua A8 559 ot ol WU 5. 7
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